GISON Pneumatic Tools
., GPW-216C Wet Air Cutting Saw (7,000rpm)

/\

PART LIS T % :Consuming Parts
Item No. Part No. Description Qty | Item No. Part No. Description Qty
1 831001W Body 1 52 | 831052WP | Governer Case 1
2 | MT001 Screw 1 53 | 831053 Lever 1
3 | 831003W Disc Cover 1 54 | SP028 Spring Pin 1
x 4 911021AWC | Disc Nut (5/8") 1 55 | S028 Valve Spring 2
911021WC Disc Nut (M14) 56 | 831056 Safe Lever 1
5 831005 Disc Reciever (5/8") 1 57 | 831057 Hose Asapter 1
831005WA Disc Receiver (M14) 58 | 832052 Valve Screw 1
* 7 | B629LLU Ball Bearing 1 59 | OR033 O-Ring 1
* 8 | B6303LLU Ball Bearing 1 % 60 | 831h02 Governor Assembly 1
* 9 | 831009 Bevel Gear 1 61 | 831061W Valve Pin 1
10 831010W Gear Shaft (5/8") 1 % 62 | OR034 O-Ring 1
831010WA Gear Shaft (M14) 63 | 831063 Nut 1
11 KR003 Key 64 | C5 Retaining Ring 1
12 | C15 Retaining Rring 67 | MS006 Screw 1
13 | WW15 Spring Washer 69 | 829047 Disc Spanner 1
14 | 831014 Exhaust Deffector 831050WR | Water Inlet Transfer Post (for Left Handle)

71

N

% 15 | B6201LLU Ball Bearing 831050W Water Inlet Transfer Post (for Right Handle)

% 16 | B6202LLU Ball Bearing 74 | MC002 Screw

1

1

1

1

2
1 1
* 17 | 831017 Pinion Gear 1 75 | 831054W Fixed Plate 1
* 20 | C9 Retaining Ring 1 76 | 829058CW | Water Valve 1
21 831021 Front Plate 1 77 | 831054B Water Inlet Tube 1
22 | 831022GH Cylinder 1 79 | 911045W Brass Cover 1
% 23 | 831023 Rotor Blade 4 80 | 911048WC | Water Outlet Tip 1
% 24 | 831024 Rotor 1 81 CAP037 Screw 4
25 | SP025 Spring Pin 2 84 | MS019 Set Screw(M3x12L) 1
26 | 831026 Rear Plate 1 85 | 911051W Nut 1
33 | CAPO17 Screw 1 86 | 829003W Plastic Sleeve 1
36 | 829048 Stop Spanner 1 87 | 831062W PU Hose 3
40 | SG015 Oil Seal 1 88 | 831059W L Type Joint 2
46 | 831046 Gasket 1 89 | 831060W T Type Joint 1
47 | 911018WC Disc Receiver(cutting) 1 90 | OR052 0O-Ring 1

50 | 829027 Dead Handle 1

2012/1/13



